### Memphis-Shelby County Schools (MSCS) 2024 Summer Feeding Commercial Food Items Bid Frozen By The Serving

Stock Number	Unit	Description	Approved Brand (Manufacturer's Product Code)	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Servings/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.			ALL SHIP LOTS ARE IN CASES.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.										
1689	SERVINGS	Grab and Go, Deli Meal, Turkey & Cheese Meal- To contain Turkey, American Cheese, and WG Crackers. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oc Grain Equivalents for the Child Nutrition Program. Approximate pack: 48 - 5.43 oz servings per case. If packed differently, please indicate. Ship Lot: 250 cases	Tasty Brands 10202	12,000	Tasty Brands	1%10, net 20	Tasty Brands	10202	48/4.32 oz	48	\$1.62	\$77.84	250	19460	Commodity PTV will change as of 07/01/24	2 wks	No Award
1695	SERVINGS	Burrito, Dog Chili Cheese - Whole grain flour burrito filled with a whole beef hot dog, chili and cheese. Item must be a minimum of 2 oz. whole grain equivalent and 2 oz. meat/meat alternate for th Child Nutrition Program. Bulk packed approximately 60 servings per case, If packed differently, please indicate.  Ship Lot: 300 cases	No Approved Brands	18,000				CDB-6055	1	60	\$1.85	\$111.00	300	33300			AWARD
3009	SERVINGS	Chicken Turkey Ham & 2 Cheese on Wedge Sandwich, Whole Grain, IW- Whole grain, individually wrapped Chicken, Turkey Ham, American Cheese & Mozzarella Cheese sandwich. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate.  Ship Lot: 150 cases	No Approved Brands	10,800	Tasty Brands	1%10, net 20	Tasty Brands	70013	72/4.45 oz	72	\$1.05	\$75.37	150	11305.5	Commodity PTV will change as of 07/01/24	2 wks	AWARD

#### Memphis-Shelby County Schools (MSCS) 2024 Summer Feeding Commercial Food Items Bid Frozen By The Serving

Stock Number	Unit	Description	Approved Brand (Manufacturer's Product Code)	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Servings/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
3011	SERVINGS	Roasted Turkey & Mozarella Cheese Flatbread - To contain premium quality roasted turkey. and mozarella cheese on WG Flatbread. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oz Grain Equivalents for the Child Nutrition Program. Individually wrapped in ovenable file or easy distribution. If packed differently, please indicate.	No Approved Brands	12,600	Tasty Brands	1%10, net 20	Tasty Brands	70662	80/4.56 oz	80	\$1.17	\$93.65	158	14749.875	Commodity PTV will change as of 07/01/24	2 wks	AWARD
		Ship Lot: 175 cases															
3012	SERVINGS	Buffalo Style Chicken & Mozzarella Cheese Flatbread Melt - To contain premium quality buffalo style chicken breast and mozarella cheese on WG Flatbread. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oz Grain Equivalents for the Child Nutrition Program. Approximate pack, 80/case. Individually wrapped in ovenable file or easy distribution. If packed differently, please indicate.  Ship Lot: 225 cases	No Approved Brands	18,000	Side Dish		Side Dish	BFP-4079	1	60	\$1.85	\$111.00	300	33300			
3012	SERVINGS	Buffalo Style Chicken & Mozzarella Cheese Flatbread Melt - To contain premium quality buffalo style chicken breast and mozarella cheese on WG Flatbread. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oz Grain Equivalents for the Child Nutrition Program. Approximate pack, 80/case. Individually wrapped in ovenable file or easy distribution. If packed differently, please indicate.  Ship Lot: 225 cases	No Approved Brands	18,000	Tasty Brands	l%10, net 2	Tasty Brands	70668	80/4.56 oz	80	\$1.14	\$91.20	225	20520	Commodity PTV will change as of 07/01/24	2 wks	AWARD

## Memphis-Shelby County Schools (MSCS) 2024 Summer Feeding Commercial Food Items Bid Dry By The Serving

Stock Number	Unit	Description	Approved Brand (Manufacturer's Product Code)	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Servings/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.			ALL SHIP LOTS ARE IN CASES.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.										
1190	SERVING	Juice, Fruit Punch, 6.75 oz. 100% pure juice. With Calcium, No Sugar Added, Fortified W/ Vitamins A, C and E. Shelf Stable for 12 Months, Straw attached. Fruit Content Equal To 3/4 Cup for the Child Nutrition program. Approximate pack is 40 servings.  Ship Lot: 325 cases	Apples & Eve 84512 Ardmore Farms 62042	13,000	Sysco Memphis LLC	Net 14	Ardmore Farms	62042	40/6.75	40	0.47125	18.85	325.0000	\$6,126.25		4 weeks	AWARD
1193	SERVING	Juice, Grape, 6.75 oz. 100% Juice, With Calcium, No Sugar Added, Fortified W/ Vitamin C. Shelf Stable for 12 Months, straw Attached. Fruit Content Equal To 3/4 Cup for the Child Nutrition program. Approximate pack is 40 servings.  Ship Lot: 325 cases	Apple & Eve 84518 Ardmore Farms 62043	13,000	Sysco Memphis LLC	Net 14	Ardmore Farms	62043	40/6.75	40	0.48725	19.49	325.0000	\$6,334.25		4 weeks	AWARD
						L			L								
1698	SERVING	Fruit Slush Pouch, Frozen- Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Hula Cooler  Ship Lot: 300 Cases	Cool Tropics 14505	25,000	Sysco Memphis LLC	Net 14	Cool Tropics	14505	60/4 oz	60	0.463833333	27.83	416.6667	\$11,595.83		4 weeks	
1698	SERVING	Fruit Slush Pouch, Frozen- Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Hula Cooler  Ship Lot: 300 Cases	Cool Tropics 14505	25,000	Cool Tropics	Net 14	Cool Tropics	14505	60/4 oz	60	0.4175	25.05	416.6667	\$10,437.50		4 weeks	AWARD

Dry-Servings Page 3

### Memphis-Shelby County Schools (MSCS) 2024 Summer Feeding Commercial Food Items Bid Dry By The Serving

Stock Number	Unit	Description	Approved Brand (Manufacturer's Product Code)	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Servings/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
3014	SERVING	Corn & Potato Ranch Stix - Whole Grain ranch flavored corn and potato chip. Stick-shaped chip. Must be smart snack compliant. Must meet 1 oz. grain equivalent for the child nutrition program. Total fat must not exceed 35% of calories. Sat fat must not exceed 10% of total calories and no mor than 230 mg. of sodium. Minimun shelf life: 30 days from delivery date. Approximate pack: 104/case. Please indicate if packed differently.  Ship Lot: 100 Cases	Pepsico/Frito Lay 74993	10,400							#DIV/0!		#DIV/0!	#DIV/0!			NO BID
		Snip Lot: 100 Cases															
1699	SERVING	Fruit Slush Pouch, Frozen- Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Mango Peach  Ship Lot: 300 Cases	Cool Tropics 14506	25,000	Sysco Memphis LLC	Net 14	Cool Tropics	14506	60/4 oz	60	0.463833333	27.83	416.6667	\$11,595.83		4 weeks	
1699		Fruit Slush Pouch, Frozen- Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Mango Peach  Ship Lot: 300 Cases	Cool Tropics 14506	25,000	Cool Tropics	Net 14	Cool Tropics	14506	60/4 oz	60	0.4175	25.05	416.6667	\$10,437.50		4 weeks	AWARD

Dry-Servings Page 4

# Memphis-Shelby County Schools (MSCS) 2024 Summer Feeding Commercial Food Items Bid Dry By The Case

								DI y By III	c case								
Stock Number	Unit	Description	Approved Brand (Manufacturer's Product Code)	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Servings/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1111	CASE	Each jar is securely sealed to	GFS/Bay Valley 127/12822891393 Cajun Chef Heinz 5218904	250							#DIV/0!		#DIV/0!	#DIV/0!			NO BID
	CASE	Pickles, Dill Pickle Spears - Each jar is securely sealed to prevent leakage and contains a resealable lid for each jar. Approximately packed in a case with 100 spears per jar. 4/1 gallon resealable jars per case.  Ship Lot: 250	No Approved Brands	250							#DIV/0!		#DIV/0!	#DIV/0!			NO BID